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Haxoxienue nepeMeHHON BEIUYuHbI (1, -, X, +)

Nwms:

Hajinure 3HAaYEHME X. OTBeTHI
D) 32-3x=20 2) 5x+73=53
1.
2.
3.
3) 59-2x=155 49 95+ 3x=74 4,
5.
6.
7.
5 Ox+5]1=47 6) 50+ -4x =26
8.
9.
10.
D 11+3x=26 8) 36+ 2x =40
11.
12.
9) 83-5x =63 10) _3x + 64 = 40
1) 38 +-1x =35 12) 16+0x=16
1-10 [92[83]75[67]58]50[42[33[25]17]
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Haxoxaenue nepeMeHHOM BeIUYuHbI (+, -, X, +)

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Haiinure 3HaueHue X.

1)

3)

S)

7

9)

11)

32-3x=20
x =4

59 -2x=155
x=2

2x + 51 =47
Xx=2

11 +3x=26
x=5

83-5x=063
x =4

38 +-1x=35
x=3

2)

4)

6)

8)

10)

12)

Sx+73 =53
x =4
95+ -3x=74
x=17
50 +-4x =26
X=06
36 +2x =40
X=2
3x + 64 =40
X =8
16 +0x=16
x=7

OTBeTHL
3 4
2. 4
3 2
4 7
5 2
6 6
7 5
8 2
9 4
10. 8
11. :;
12. 7
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1-10
11-12

7567 [58[50]42]33[25[17]




Cll# Haxoxnenue nepeMeHHOM BeJInYuHsI (+, -, X, + Nwmsi:

Haiinure 3HaueHue X.

4 8 6 2 4
7 2 5 4 2

1) 32-3x=20 2) 5x+73=53
3 59-2x=155 4 95+ -3x=74
S) 2x+51=47 6) 50+ -4x =26
D 11+3x=26 8) 36+ 2x =40
9 83-5x=063 10) _3x + 64 =40

10.

OTBeThI

1-10 {90 [80[70[60[50[40[30[20]10] 0 |
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